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 for the questions. -

¢

Q. No. 1 carries 1 mark each

1 (a) g 1x4 = 4
1) 1x2 = 2
1 () C1x2 = 2
Q. Nos. 2-6 carry 2 marks each : 2x5 = 10
Q. Nos. 7-11 carry 3 marks eac _- 3x5 = 15
Q. Nos. 12-18 carry 5 marks each . 5%x7 = 35
Q: Nos. 19-22 cﬁrry 8 marks each 8x4 = 32
Total =100
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1. (@) - Fill in the blanks with appropriate wérd/ words : (any four)
TogE *E AL A T ¢ (e, bifor)

() Income and Expenditure Account is preparedon________ basis.
_ _ 1
R ol e w1 |
(i) Liability of a partner is . -' 1
TR SRR (R AR _ |
(iij) Annual Report is iésued by a company to its _ " 1
&t et A efor T /il =
(iv) Liquid ratio is the relationship‘between ___and curfent
liabilities. ' ' 1
O TS R 5T (AR AR I |
(v) Equity shareholders are _ of a 'company.‘ . B 1

ANHAG (F AT B! @R o

(h) Choose the correct alternative :
7 B! AW 4 8
(i) When a new partner is admitted = | 1
| ot e g SR of T —
(1) Consent of all the partners is required.
TR SR TSI efvae 2 |
(b) Consent of majority of the partners is required.
FRAT TAMT FASH AT = |

() Consent of any one partner is required.

Rl o sreime 7feT 2iarem = |
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(i) Balance of shares forfeited accou_nt-after re-issue is transferred
to — - P 1
571 e FPigs e sie7ia 217 Tge e 3= W—
(1) TReserve Fund F
Al e |
(b) Profit and Loss Account
(c) C'apital. Reserve
TR Sfferce
(c) State whether the following stateménts are ““True” or “False” : (any two)
o] Sfen “em” 7 “Sew” B s (R i)
| () Outstanding subscription is an asset. . 1 _

AN e (R @O g F

(ii) A Preference Shareholder gets interest at a fixed rate. 1

9T SARRERTE S @B RS 2w e i

(1ii) Company’s shares are generally transferable, I 1

RN SRR ARETS THIGIC |

(iv) Life membership fee is a capital recéipt. ‘ ' o1
SIERA %) TR TR G P S|
2. Mention two features of a not-for-profit 01gamsat1on | 2% .

e (ARl AfSw=a 75 @Ry Trad |

3. What is Profit and Loss Appropriation Account ? 2
SHo-(FIFEH ST Zoief & 2

L4

N

4. What is the meaning of Cash Flow from Financing Activities ?

RS IHTT “i9 (@A T 479 e[z o &
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10.

Mention any two features of a debenture.
Aeloiq Rz qo! (AT S <L
Mention any fwo rights of a partner. é

SR qewd [ 7o S S 901

A and B are partners shaun profits and losses in the ratio 3:2. C is
admitted into the paltHGIShlp A surrendered Y4 rd of his share and B
surrendered 1 th of his share in favour of C. Determine the new profit
sharing ratio. . : 8

A O B e SRANR O (SSTEANS 3 : 2 AT Ae-(FII 35T I

C-T Tgw STMR 251091 (R T4 | A~ (D€ O9. J Oi%e B-(F (969 BT
A wwctam?ﬁafﬁmla—e{a—amwﬁrﬁ‘ﬁW|
OR/ 7z

Write tliree distinctions between Fixed Capital Account and Fluctuating
Capital Account.

*

'ﬁa@mﬁmﬁm@%ﬂﬁ@ﬁmmwwﬁ%m@ﬁw

Explain #iree uses of financial statement. Y -

- RS elferR ORb I9EE I AL

Mention any three objectives of preparing Comparative Statement. .~ 3
RIS AR SR ! fortr SRy St ¥4 |
OR/ R | |

A company’s stock is Rs. 2,00, 000. Total liquid assets are Rs. 8,00,000 and
quick ratio is 2:1. Calculate current ratio.

Gl mwvnﬁﬁwqmmcfszoooomaﬁsmmmﬁq qusooooom

waw_{vn—mM 1|6i%l—@ﬂvn—ﬁq‘4w|

Explain the following terms : . . 3
TR AR I 3 2 |
(i) Capital Fund
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(i) Life Membership Fee
SIS 7] SR

(iti) Entrance Fee
<% w1
A OR/ %
Write three fea‘tures of Fund Based Accounting.
Afefefes Roviaaem oAb @Yy B .
OR/ 7z |

Calculate the amount of stationery consumed to be shown in the Income
and Expenditure A/c for the year ended 31st December, 2020 —

31 TSR, 2020—11%1?161@9@1%@1?1@&5191— mﬂmﬁsﬁmm@%ﬁwﬁm
fRefg =1—

01-01-2020 ' 31-12-2020
| Creditors for stationery 4,000 - 6,200
ARSI A AW | | |
Stock of stationery - . . 5400 5,000
TARNR g9 | - |

During the year 2020 payment.madé for stationery was i40,000.

2020 41 foese AR I 40,000 T ﬂﬁmawt’fﬁn

11. Write Hiree differences between Realisation Account and Revaluation
Account., .3

Wqﬁmmmfiﬂeﬁww fofaor «ndeg it
OR/ 737 %

Write any three uses of Cash Flow Statement.

ol eiie Ao Rica ol <r=E el |
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12,

Prepare Income and Expenditure Account from the following Receipts
and Payments Account and other details of Surya Club for the year ended
31st December, 2019 : 5

31 o5, 2019 Ot S@A«l 749 AR I PR TS fral G- i W
ST e o)l TEER AR A 256 s 48

Receipts and Payments Account

5 (Ti-2=n fzpiet) Cr.
Receipt (&91) ' (2) Payments (¥<p) . . (®
To Balance b/d : ' By Salaries , 12,000
(TS Tge) (7=12)) ‘ "
Cash-in-hand 10,000 | By Honorarium 3,000
(o1 Tl | () N :
To Subscriptions By Travelling Expenses 2,000
- (RER) | (3w | |
2018 — 900 By Telephone Charges 1 5,000
2019 — 19,000 (T ¥=5)
2020 — 1,000 | o g
20,900 o :
To Sale of newspaper 100 | By Investment - .| 10,000
C (Aefees ) | (Rfvcam) | |
To Life Membership Fee 5,000 | By Construction of Building | 7,000
(SNE - e TipaT) o (e ) _
To Donation (W) . 6,000 | By Rent (©I%l) : 2,000
To Donation for Building| 8,000 | By Postage (i) | 1,000
(SI1 AW W) By Balance c/d: ¢
To Interest (3) 200 (IEld Tge) |
To Maintenance Grant © 2,000 - Cash-in-hand (5% &=11) | 11,200
- (ARG STE) |
To - Sale of Furniture 1,000
(w5 ) . ,
53,200 b 53,200

»
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Other details (SHjly R34 -

i Outstanding S'alaries — 21,000
S w1l — 1,000 B

(i) Subscription outstanding.— 22,000
ST e — 2,000 5

(i) Subscrii)tion for 2019 received in 2018 — T 200
20199 e 2018 S (ofra1 T&fZe — 200 b

OR/ &1
Write five distinctions between Reéeipts and Payments Account and
Income and Expenditure Account. _ S

wwfimww—wﬁmmmw?ﬁmmﬁﬂﬁw

13. Explam the method of calculatmg “Cash flows from Operating Activities”

-

under direct method. BRI N

WWWWW%WTWW@%WTWH@
9 |
OR/ 72

Calculate cash from operating activities from the following information :

mwwwWWmW1mmmqﬁcﬁw
2019 (%) 2020 ()

Profit and Loss A/c. (FiT\'?—CFﬁ?ﬁtSF{ 25171 - 60,000 65,000
"Debtors ((7=MR) 87,000 50,000
Bills Receivable (2i*}f &) . 62,000  1,03,000
General Reserve (G499 #Jf&7) © 7202000 . 237,000
Salary Outstanding (SHME wW&&R) - 30,000 . 12,000
Wages Prepaid (S5 oire wgR) -~ 5,000 7,000
Goodwill (FRI) -+ 80,000 70,000
Cash and Bank Balance (7% % (339 Tq6) 40,000 30,000

32T ACOU N | [7] ' ~* Contd,



14. What is Ratio Analysis ? Mention any three limitations of ratio analysis.
2+3=5

e R & 2 Seeirs Rosaem R fome Tl T &1
OR/ 1z

Briefly explain the meamncr and SIgmfIcance of any two of the followmg
ratios — 212%2=5

woTs fial ST ﬁmmzmmfm &7 T T T —
(i) Debt-Equity Ratio | |
o] T SRS
(i) Gross Profit Ratio
Y e SATS
(i) ‘Quick Ratio
QRS SIS
(iv) Stoék Turnover Ratio

TGS A TRET TS

OR/ 1zl
Cost of Goods Sold — - ¥ 3,00,000
' Stock Turnover Ratio — 6 times

TS AR SIS TPATS (6'?11?1')

Find out the value of Opening Stock, 1f Opening Stock.is 710,000 less than
the Closing Stock. , _ | 5

mwwwﬁ:@i@wmaﬁ%z—vfmmooomwm (ST T TGS
SR Sy e = |

32T ACOU E . '[ 8]



15.  From the following Income Statement, prepare Common Size Income
Statement and give your comuments :

R S 2SR o[, T Wﬁmwwmwwmmﬁ_

8

RISV A GIART)
Particulars 2018 (3) | 2019 (3) Particulars 2018 (%) | 2019 (3)
(faa=et). (EEER)) _ '
To Cost of By Net Sales | 1,20,000 .1,45,000
Goods Sold 95,000 | 1,05,000 (o i)
(R AMTE :
GHIET)) )
To Gross -
Profit ¢/d 25,000 | 40,000 .
(5 =rS) : .

1,20,000 | 1,45,000 1,20,000 1,45,000

To Office By Gross :
Expenses 2,00_0 8,000 | Profit b/d 25,000 40,000
(FIETES A9D) (& e)
To Distribution
Expenses 3,.000 5,000
(29" <4p) :
To Net
Profit ¢/d 20,000 | - 27,000
(2 =) -

' 25,000 | 40,000 25,000 40,000

OR / Tzt

Give the new format of the Balance Sheet of a company (main headings

Act.

only) as per the requirements of the revised Schedule-VI of the Companies

- @A W3 AR wIifF -V SR o WW TTEaT T Uﬂfﬂ?@‘t
(T2 Y37 PIOPTR) oes 3 |

32T ACOU
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subscription. -

Eo W‘v‘ﬁﬁ:‘ [ @lﬁ?ﬁ TS Siere 4 #50) #liday WWURH l

OR/ 721

Give five points of dlstmctxons between under-subscription and over-

16. A, B and C were in partnership sharing profits and losses in the ratio of
3:2:1. On 1st January, 2020, B retired from the firm. On that date their

Balance Sheet was as follows :
A, B R C (@ 3:2:1 TAICS FS-FRGH 57 SR SIeTAr o1 I Sifea |
1 SIS, 2020 ﬁﬂBNWWWWWI@'ﬁTFbW
WWTW@%W

Balance Sheet (@‘§ ?1q)

. 243=5

Liabilities (cw=l). " (3) Assets (7€) (%)
| Creditors 27,180 | Cash (J5w &) 9,400
(M) Debtors (CFII) 16,000
Capitals : :
(ﬁﬁiﬂ) Stock (5:151\9 2[%7) l 23,380 |
; A 30,000 Building (&) 46,000
B ;20,000 ) ' |
- i Profit and Loss A/c 2,400
C 20,000 | _ , .
T 70000 (sire-rimm e ‘
97,180 97,180

The terms of the retirement were :

Wb—?{ﬁmﬁm

- (i) Bulldmg is to be app1ecmted by 214, 000
O T 14,000 BHII I 7 7D

(i) Provision for deubtful debts is to be made at 5% on the debtors.

CRMIRE G4 5% Fwze o s oo =1 23

(iii) The goodwill of the firm is to be valued at Z36,000.

AfSDIR TR IR 36,000 TS I T

- 32T ACOU

1
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(iv) No cash is to be paid to B immediately and balance of his capital
account is to be transferred to his loan account

B 9 41 SICFRTOIE AR TR AR S (969 T Rpiod T@ -
(Oeq Y [ZHiole gAleR =1 771 O

Prepare Revaluation Account and Partners' Capital Account.
FREETER f2hlel e, SIRAWIR Sl f2pl7 dee 1 |
OR/ 7R

Write the uses of securities premium amount.

el wftgme s GRERE e
17. P, Q and R were in _.partnership sharing profits and losses in the ratio of
4:3:3. On 31st March, 2020 their Balance Sheet was as follows : B
P, Q SIS R 4:3:3 SHe® io-(FHH [ogimld] @i afsomg siiime
- wifest | 31 5, 2020 GRS (SSERN Ygeriadd ere Al dxels il 3
| _ . " Balance Sheet (TS Q)

Liabilities ((7) @ |. - Assets Gf€) )
Cr_ed‘itors (AAeTmR) 87,000 | Fixed Assets (B ife) 2 90 000
Reserve (%% ffer) 133,000 | Stock and Debtors - . 85,000
Capital Accounts : | (s o] IS (WEWE) :

(TR f2171) . Cash (F9%) | 15,000
. P :1,05000 ' ‘
Q : 85,000
R : 80,000 270,000 | |
3,90,000 X 3,90,000

1

'Q" died on 30.6.2020. Under the partnership agreement the executors of a

deceased partner were entitled to:

30.6.2020 SIf<I® 'Q'W—mm;s@srrsrwoﬁ’rw aﬁﬁf\w AR g -

(1) Amount standing to the credit of deceased partner's capital account.

o SRR e 1R (b 3 ellof & |

32T ACOU : _ [11] Contd.



()

A}

©

Interest on capital @ 12% p.a.

TR 12% R TR 82 7S |

His share of goodwill. The goodwill of the firm on Q's death was
valued at 2 2,70,000.

(56T FANE T | Q-3 TP AfSHRLT TR FEE 2,70,000 TS I

Gl

(d)

Share of profit from the closing of the last financial year to the date

of death on the basis of last year's profits.

ﬁw—wmﬁr—ﬁrwm&ﬂ—ﬁmwwﬁﬁ@wam
g |

The profit of the firm for the yeér ended 31.3.2020 was %2,40,000.
31.3.2020 OIS S@eR1 T A zﬁmwm offReTiel wifEst 2,40,000

. o

Prepare Q's capital account on the date of his death.

Q-3 JoR Oifivs (€7 e oot oo 0|

OR/ 7%

Distinguish between Profit and Loss account and Profit and Loss

Ap proprlatmn account. ' 5

Wmﬁmww%ﬂm@nﬁmmmmﬁmﬁﬁw

L]

18.  What is Realisation Account? Write three cases where a partnership firm

may

be dissolved by a court. .. 243=5

Wﬁﬁm%vﬁmwwwwﬁwm—zmﬁﬁm
TRZR S 9 | - '

32T ACOU
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OR/ 7zq .

Amal and Bimal are two partners in a firm. They share profits as 3:2,
Following is their Balance Sheet as on 31st March, 2021 on which date the
firm is dissolved :

e W e @9 AfovR S | (SSEE 3:2 SRFTS SIS T0H I
31 W6, 2021 SRS (SEEIRN Ygesiad wos fial (3o, R fai efoomams

- A 29 3 . ¢
Balance Sheet (%€ #[@)
Liabilities (¢ @) Assets (F7T9) @)

Creditors (S1eAR) 20,000 | Fixed Asséts (R 57if8) | 30,000
Reserve (%S ff&) 5,000 | Stock (TG® A) - 10,000
_Capitals : (51H) Debtors ((WH1IF) | . 15,000 r
?j;ﬂi) L 20’009 Cash (79%) .. . = 3,000
- ; 15.000 Profit & Loss A/c - 2,000
Gl : 35,000 | (TGO 25i+1)

| 60,000 | | o 60,000

.Fixed Assets are realised at ¥ 28,000. Stock at ¥ 8,000 and Debtors at
% 13,000. Expenses on realisation are I 1,500. Creditors are paid at a
discount of 10%. | '

7@ Tiferin R TR 28,000 Tl (oifal o' | ST #1959 51 8,000 T A
 CRMRR ST 13,000 5 R R SEIRESER 4969 AR 1,500 T
SIS 10% ((QZS ARCNL T 271 |

Prepare Realisation Account, Partners' Capital Account and Cash Account.
2+2+1=5

R 251, AW e f2piel S o f2pisl e 1

32T ACOU . : [13] ' Contd.



19. Pradeep and Pranab are partners in a firm. The Trial Balance of the firm
as on 31st March, 2020 was as under : 8

ool WRe 207 47 ASHRR SeTwE | 31 A6, 2020 SiFde ARSHRAT TE‘?C
e oo v wifgere .
Trial Balance (3¢ fifem @) -

Debit - @ | . ~ Credit (})
. ; Capital : (574)
Machinery (I1f©) 54,000 Pradecp. — 50,000
Goodwill (371) 10,000 (&) |
Patent ((#I(5°5) _ 20,000 Pranab — 40,000
‘ _ 2/) 90,000
{ Sundry Debtors 21,000 ( ‘ |
(ﬁﬁﬂ (M) _ Sundry Creditors 5,000
Cash in‘hand (S5 &) 1,000 | (e sireamt) . |
Closing Stock ‘ | 25,000 | Interest on Investment 400
(i s =) (RivcaneR esias 7o) -
Investment (RINCaeT) 10,000 {3, t
Depreciation on Machinery 6,000 | Sundry Receipts (R aifey) 200
(ARSI 8oT® TTF) | Bills Payable (2itra ) 2,000
ge“t, (WO) _ 12’888 Bank Overdraft 10,000
arriage Qutwar 7 ’ (R W) '
YT SR | g 1 500 |
» . utstanding Wages -
Taxes (IX) " - 500 (e o) :
Telephone charges {3,600 Trading A
(GRErR b)) | rading _ccount.
Commission (F(5) g00. | (T fpiv) _
Drawings (STl | Gross Profit (z@s =Tre) | 71,000
Pradeep (2mi) 5,000 . Discount (<1B1) . 9200
Pranab (&¢4) 4,000 9,000 j
Salaries (WS¥®) 8,000
Bank Charges ((3%< 3<b) 100 . |
1,80,000 ' 5 L 1,80,000

32T ACOU 14



Prepare Profit and Loss Account, Profit and Loss Appropriation Account

and the Balance Sheet of the firm for the year ended 31st March, 2020, after: |
considering the following information :

wore et SAPTR Reanat SiEee 31 =1, 2020 s P T R TSR
ﬁm,armmwm%ﬂfémmmw 2R T ¢

(1) Write off 2 1,000 as Bad Debt and prov1de as% P10v1510n on Sundry
Debtors for Doubtful Debts.

1,000 53 SEmRAE MfiﬁKﬁW’-ﬂWﬁﬁdmeWS%
AwrEEE el T R w0t |

(i) Interest on Investment Accrued 2 600.
R esws AReRE 600 5 7o |

(ifi) Interest on Partners' capital is allowed @ 5% p.a.
WTMIRE IETEAE GoRS TR 5% A IO Hﬁﬂﬁiﬁﬁl |

(iv) Create é Gen_ellal Reserve by taking ir 5,000 out of profit.
GlICEiE | sooowmeaﬂ%eﬁ%meﬁamm .

20. - (n) Write koo differences between Authorised Capltal and Issued Cap1tal

of a company. 2
BRCI @WWE@WWW@WW !jf?f?ﬁ‘lﬁﬁ%’«’lﬂ
() What is Minimum Subscuptmn? o , 2

o TN WA fF 2
() What is Reserve Capital ? - .
Aes A e -
(d) What is Call-in-Arrear ? | _ S

32T ACOU - . : [15] Contd.



21. Give

OR/ 7zt

Arnab Company Ltd. issued 10,000 equity shares of 100 each at a

premium of 10% payable as under: 8

2 30 on Application
% 60 on Allotment (including premium)
2 20 on call

Kamalesh holding 400 shares failed to pay the allotment and call
money and Monalisha holdmg 700 shares failed to pay the call

money.

Show the Entries in the Cash book and Journal of the company for

the above transactions.

o @I Fifiote afed 100 B TR 10,000 A TAAG 10%
WW%WIWTWWﬁW%WWﬁQ '

30 Tl SEwE 90

60 B (S TTS) SR TPre

20 56 TR TS |

400 < SRAPFT < TIEAC RFDA Sl SRR 4 W i IR o
700 A SRHPTR QS TS, TR 7 oI Ml FIRIReE |

Yol TR M @Mﬁﬁaﬁ—aﬂﬁaﬁ%ﬁmmaﬁr@
fral

Journal entries for issue and redemption of Debentures in respect of

‘the following : 8

V51
(1)

32T ACOU

ﬁmmﬁwmmﬂﬁ%mﬁﬁmmmaﬁ@ﬁm
Debentures issued at a discount and redeemable at _premlum..

Yol TS Rfced B SidgTs #f{ei |
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(b)  Debentures issued at premium and redeemable at premium.
Wil e KR ol ST AR |
(¢)  Debentures issued at par and redeemable at par.
WIANIY TS [Tl Wi AT AR |
(d)  Debentures issued at premiunﬁ and redeemable at par.
WA Sfage R[iekae @i W‘ AR |
| OR/ A%t

What are the differences between a shareholder and a debentureholder ?
G TRXPAYTE T GG YAy e 2Aefapmz [ & 2

| OR/ 73
Explain different methods of redemption of debentures.

Aeivia wAfReae [fen “mfomz 3dm =i

22, Ram and Mohan are ptdrtnefs sharing profits and losses equally. Their
Balance Sheet on 1st April, 2021 was follows: 3

A BF (= FAA & Ol (FIREH To4 391 S | 1 Gfele], 2021 Sike

Ba-lance ‘Sheet (%é\ﬁ "r@l)

Liabilities ((7at) ‘ ) Assets (FifE) - ®
Sundry Creditors : 15,000 | Cash (F5m) ' - 5,000
Gk ')) ' ‘ Debtors (WW) , 16,000
Capital (5&149) : . 5 : '

: A - Stock (FG9) s 12,000
Ram : 40,000 - . .
() : | _ Machinery (3g=ifs) - 22,000
Mohan : 30,000 Building (&sH) - 30,000
((=I1=) | 70,000 k. ,
‘ 85000 | . - |_85,000 |

32T ACOU : [17] ' Confd.



They decided to admit Sanjoy into partneréhip for 1/3rd share on the

following terms :

(OSEIE 1/3 TR AR TGTE O boomed s fmift qeiiss Suge
T ﬁmaﬁ

LY

(1) Mac_hinery and Buildings were revalued at ¥ 20,000 and 2 42,000

respectively,

Wﬁmﬁﬁmwwmzoooomm@oow@w
= 2 |

(i)~ Creditors were reduced by % 2,000.

AR FFTEF 2,000 TR ZH <+ T |

(iif) Provision for doubtful debts on debtors is to be c_reated at i’ 1,000.

R €39 1,000 DR e r«qﬁ%%ﬁﬂﬁL

(fv) Sanjoy is to brmg ing¥ 40 OOO as his cap1tal and ¥ 24,000 as premium -
for goodwill. ' ' :

AGT 40,000 561 TFA W 24,000 B FFIR B it Grrﬁa R |

Pass Journal entries for the above information and p1epale Balance Sheet
of the f1rm after the admission of Sanjoy. '

%memmﬁﬁ%ﬁmmﬂbmWWMW
G 2FS 3 | |

OR / AfZ3

()  Write any tliree limitations of partnership business.” =~ 3

G AR et o e B |

32T ACOU : [18]



(1) Explain five factors affecting the goodwill of a firm. - 5

A SYIRT FFAITS 2SR (AR “1-1 #7557 TS S 1|

OR/ 7zt

Distinguish between "dissolution of Partnership and dissolution of
- Partnership firm. 8

W%WW%@:WWWWWWIW|

191
32T ACOU [19]



